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1.  The term ‘Photoperiodism’ was coined by

(a) Thimann (b) F.W. Went (¢) Kurosawa (d) Garner and Allard
2.  ‘Kent’ is name of which crop variety ?

(a) Oat (b) Berseem (c) Lentil (d) Pea
3. Which of the following chemical is used for reclamation of sodic soils ?

(a) Sodium sulphate (b) Calcium carbonate

(c) Calcium sulphate (d) Potassium sulphate

4.  Himadri (BHS-352) is a variety of which crop ?
(a) Oat (b) Barley (¢) Sunflower (d) Mustard

5.  Which of the following statements are true for rice ?
(1) Rice is a high calorie food.
(i) It contains more protein than wheat.
(i11) The biological value of rice protein is high.
(iv) It is the staple food for more than 60% of world’s population.

(a) (i), (i) and (iii) (b) (i), (i1) and (iv)

(c) (i), (iii) and (iv) (d) All(, ii, il & iv)
6.  Big sized granules of urea weighing about 1 g are called

(a) Sulphur coated urea (b) Neem coated urea

(c) Prilled urea (d) Urea supergranules

7.  Mescavi, UPB-110 and Vardan are varieties of

(a) Cow-pea (b) Lucerne (c) Berseem (d) Oat
8.  Desired seed rate for seed crop of oat is .

(a) 30-—40kg/ha (b) 50—-60 kg/ha

(¢) 70— 80 kg/ha (d) 90— 100 kg/ha
9.  In most of the soils, particle and bulk density vary between

(@) 1.5-17and 1.4-1.5 (b) 1.7-22and 1.5-1.6

(c) 20-24and1.2-1.4 (d) 25-27and 1.4-1.8

10. An alumino silicate mineral dominated by potassium, iron, magnesium and sodium
(a) Mica (b) Limonite (c) Feldspars (d) Quartz

11. Recommended row ratio for wheat + mustard intercropping is
(a) 1:1 (b) 9:1 (c) 2:4 (d) 4:1

12. Which of the following herbicide is selective and systemic in nature ?
(b) Paraquat (c) Glyphosate (d) Diquat

(a) Atrazine

Series-A I AHB-TIA




1. e ‘wrRIfEfesn frae gra fesm mam o ¢

(a) Torme (b) Th.3Y, 9= (c) FHIETET (d) TR T Tt
2. “$ug TR BEA H TSTd HIAH S ?
(a) ¥ (b) s (c) W (d) A

3. T @ fora o 61 s et vty o g & ke Sman g 2

(a) AfeTmTEhe  (b) FfemEE FENS  (¢) Hfcorm Tethe  (d) TRRM Tehe
4. e (dh.wa.wm. 352) e wE hi yTia & 2

(a) S (b) St (c) et (d) =t
5. frforfea # @ & @ gwaer 9 & ford Sugs 8 2

(i) o Th 3= SoTierd WA= & |
(i) 35 T @ STfereh A I S 2 |

(iii) Heh T o1 SAfereh A 3Tk BT 2 |

(iv) g fawa &t 60% & 311 ATETET 1 TG TER 7 |

(@) (i), (ii) 3 (iii) (b) (@), (ii) 3 (iv)

(©) (i), (iii) 3 (iv) (d) =t (i, i, iii 3T iv)
6. AT | goh IoH ATt S GH ! HEA 3 |

(a) T ifua I (b) i wifua gfen

(c) fores gt (d) I g
7. ol A S-110 3R T T wae i fored & 2

(a) wrfe (b) =& (c) Swim (d) 7
8. g <l &S IcdTEH hH Bq A IS g 8

(a) 30-—40Tfrm. /3. (b) 50— 60 f.7M. /3.

(c) 70— 80 .71 /3. (d) 90 — 100 fp.7m. /3.
9.  3TfUeR™ HaT3A § UTEshel AT Siesh Ocdl (T oh Hell TRaHT &

(@ 15-173R14-15 (b) 1.7-223R1.5-1.6

(c) 20-243T1.2-14 (d) 25-273N14-18

10. T Tt ffershe wfvt foreml difirm, smre, Sfifyrm qen ifeam ) ageran 2t 8, @8
2

(a) HTEH (b) fereiTse (c) HeeE (d) TSt
1. T + o (U8) 1=:adl BHet & ford dega dfea g 2

(@) 1:1 (b) 9:1 (c) 2:4 (d) 4:1
12. Frefafed § 3 #9 a1 ee yHk § Tafh T e § ¢

AHB-1IA 3 Ty




13. Sunflower oil is considered as the premium oil compared to most other vegetable oils
because of absence of

(a) Linolenic acid (b) Dull colour

(c) High pungency (d) Low smoke point

14. Which one of the following elements is present in chlorophyll ?
(a) Mg (b) P (¢ K (d) Ca

15. Ideal temperature for tuberization in potato is
(a) 14°C (b) 18°C (c) 21°C (d) 34°C

16. Secondary nutrients for plants are
(a) C,Hand O (b) Ca,MgandS (¢) Fe, S and Cu (d) Ni, B and Na

17. End product of glycolysis is

(a) ATP (b) Pyruvate (c) PEP (d) ADP
18. The highest productivity of cashew nut occurs in which state of India ?

(a) Madhya Pradesh (b) Maharashtra

(c) Meghalaya (d) Andhra Pradesh
19. The scientific name Emblica officinalis pertains to .

(a) Apple (b) Avocado (c) Aonla (d) Almond
20. ‘Thomas Pride’ is a popular early variety of

(a) Aonla (b) Ber (c) Papaya (d) Loquat
21. Dehaulming in potato is done to obtain

(a) Quality seed tuber (b) Higher protein content

(c) Higher yield (d) Higher starch content

22. ‘Lincoln’ is a variety of which vegetable crop ?
(a) Onion (b) Tomato (c) Brinjal (d) Pea

23. ‘Palam Samridhi’ is a high yielding variety of
(a) Brussels sprout (b) Broccoli (c) Cauliflower (d) Cabbage

24. ‘Santa Rosa’ is a variety of which fruit crop ?
(a) Peach (b) Plum (c) Apricot (d) Almond

25. ‘Allison’ is the most common variety of which fruit ?
(a) Grape (b) Guava (¢) Kiwi (d) Banana

26. Aonla is a rich source of which vitamin ?
(a) Vitamin A (b) Vitamin B (¢) Vitamin C (d) Vitamin D
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Yellow vein mosaic is a disease of which vegetable crop ?
(a) Okra (b) Beans (c) Brinjal (d) Chilli

Veneer grafting is most common method of propagation in which crop ?
(a) Apple (b) Lime (c) Mango (d) Litchi

A system of orchard planting where 15% more plants are accommodated than square system
is

(a) Rectangular system (b) Hexagonal system
(¢) Quincunx system (d) None of these

Arabica and Robusta are types of which crop ?

(a) Tea (b) Coffee (¢) Cashew nut (d) Cocoa
‘Anna’ is a low chilling variety of which fruit ?

(a) Peach (b) Pear (c) Apple (d) Plum
‘Thompson Seedless’ is a variety of which fruit ?

(a) Grape (b) Papaya (¢) Kiwi (d) Peach
Wart of potato is caused by

(a) Alternaria solani (b) Erwinia carotovora

(c) Synchytrium endobioticum (d) Phytophthora infestans

Coconut is propagated through

(a) Seedling (b) Cutting (c) Air layering (d) Gooty
Young cocoa fruit is called

(a) Cherelle (b) Cushion (c) Pod (d) Berry
The process of cold exposure to induce flowering is known as

(a) Vernalization (b) Abscission

(c) Photomorphogenesis (d) Inversion

In which of the vegetable crop the harvested part is called ‘curd’ ?

(a) Cabbage (b) Cauliflower (c) Carrot (d) Bittergourd
Botanically mango fruit is a

(a) Pome (b) Berry (c) Drupe (d) Nut
National Horticultural Board is situated at

(a) Kochi —Kerala (b) Bangalore — Karnataka

(¢) Cochin — Kerala (d) Gurgaon — Haryana

The highest area of coffee cultivation comes under which state of India ?
(a) Kerala (b) Tamil Nadu (c) Odisha (d) Karnataka

The line-to-line distance for jackfruit planting is
(a) 3m (b) 6m (c) 9m (d 12m
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What is the seed rate for nursery raising of Kharif onion for planting one hectare of land ?

(a) 4-5kg. (b) 6 -9 kg. (c) 12-15kg. (d) 18—-20 kg.
Amrapali variety of mango is a cross of

(a) Ratna x Alphanso (b) Dashehari x Neelam

(¢) Neelam x Dashehari (d) Alphanso x Dashehari

What is seed rate of chilli to raise nursery for transplanting of one hectare area ?
(a) 250¢g (b) 500 ¢g (c) 750 ¢g (d) 1000 g

Another name of egg-plant is
(a) Brinjal (b) Tomato (¢) Onion (d) Carrot

Whiptail in cauliflower is due to the deficiency of
(a) Nitrogen (b) Zinc (c) Molybdenum (d) Boron

‘Chaubattia Anupam’, a hybrid variety of apple, is a cross of
(a) Golden delicious x Early shanburry  (b) Early shanburry x Red delicious

(¢) Ambri x Golden delicious (d) Red delicious x Ambri

Dahlia and Day Lily are plants.

(a) Bulbous (b) Xerophytes (¢) Succulents (d) Hydrophytes
Which of the following flowers are grown for cut-flower production in the country ?
(a) Roses and gladioli (b) Orchids and tuberoses

(c) Carnation and dahlias (d) All of these

Ixora comes under which of the following plant categories ?
(a) Herb (b) Shrub (¢c) Tree (d) Climber

What is the best place to make a rejuvenating pruning cut ?

th
(a) % above an existing bud or shoot  (b) Near the main stem

th
(¢) Nearby ground (d) i above an existing bud or shoot

Cultivation of plants in water is termed as
(a) Hydrophobic culture (b) Tissue culture
(¢) Hydroponics (d) Nutrition culture

Which of the following is a regular bearing variety of mango ?
(a) Dashehari (b) Mallika (c) Jardalu (d) Totapari

A transparent product prepared from clear extract of fruits having pectin is called

(a) Jam (b) Jelly (c) Juice (d) Ketchup
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Azadirachta indica is botanical name of
(a) Mango (b) Pipal (c) Neem (d) Soybean

Which of the following fruit is of Indian origin ?
(a) Grape (b) Mango (c) Dragon fruit (d) Jackfruit

Which of the following fruits has endosperm as its edible part ?
(a) Litchi (b) Bael (c) Coconut (d) Pineapple

Papain in papaya is extracted from
(a) Leaves (b) Seeds (c) Stems (d) Immature fruits

The ratio of retention female to male plants in papaya plantation should be
(a) 19:1 (b) 9:1 () 21:1 (d) 29:1

Among the following vegetable crops, which one is day-neutral ?
(a) Sweet potato (b) Cabbage (¢) Tomato (d) Cauliflower

Which of the following is transformed and matured ovary of the flower ?
(a) Grain (b) Flower (¢c) Fruit (d) Seed

Edible part of the papaya is .
(a) Pericarp (b) Endocarp (c) Mesocarp (d) Endosperm

The name of solar cell that converts electromagnetic energy of incident radiation directly
into electrical power

(a) Solar photovoltaic system (b) Solar chemo system
(c) Solar irrigation system (d) Solar energy cell

The role of information and communication technology in agriculture is
(a) Preparation of database (b) Preparation of decision support system
(c) Management information system (d) All of these

For direct drilling of seed into heavy stubbles enabling the stubbles to be retained on the
surface, is performed by

(a) Happy seeder (b) Zero tillage (c) No-till drill (d) Slit-till drill

Which type of spray pattern is produced by the triple action nozzles ?

(a) Jet (b) Solid cone (c) Hollow cone (d) All of these
Which plant protection equipment is used to apply chemicals in powder form ?

(a) Knapsack sprayer (b) Rocker sprayer

(c) Blower sprayer (d) Dustor

The Essential Commodities Act was enforced by the Govt. of India in the year
(a) 1945 (b) 1955 (c) 1975 (d) 2005
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69. Which type of engine operates in one direction only ?
(a) Two stroke engine (b) Four stroke engine
(c) Both two and four stroke engines (d) None of these

70. ‘Natural Farming’ was started for the first time in
(a) India (b) Pakistan (c) Japan (d) China

71. In which year Tribal Area Development Programme was started in the country ?
(a) 1970 (b) 1987 (c) 1972 (d) 1982

72. In farm irrigation practice, the commonly used device for measuring water is
(a) Orifices (b) Weirs (c) Parshall Flumes (d) All of these

73. Which of the following is an example of permanent structure used in soil and water
conservation ?

(a) Check dam (b) Drop spillway (c) Drop inlet spillway (d) All of these

74. What is the percentage of loss of perishable items after harvest in the country ?
(a) 10 (b) 20 (c) 30 (d) 40

75. What quantity of solar energy radiation kWh per year is received in India ?
(a) 2000 trillion  (b) 4000 trillion (c) 5000 trillion (d) 8000 trillion

76. Campaign refers to
(a) focus attention of people on a particular problem.
(b) focus attention of people on a number of problems.
(c) focus attention of government.
(d) focus attention of management committee.

77. Hydraulic brake system is based on the principle of
(a) Pascal’s law (b) Bernoulli’s theorem
(c) Hook’s law (d) Stoke’s law

78. What is corporate farming ?
(a) Two or more farmers carry out agricultural operations and share the income.
(b) The farming is completely managed by operating body of corporate sector.
(c) The farms are managed by the government.
(d) The farming is got done by Agricultural Marketing Board.

79. Pusa Bin is a storage structure for storing

(a) Wheat grains (b) Potato (c) Mustard (d) Cluster bean
80. Full form of R.B.IL. is

(a) Registered Bank of India (b) Reserve Bank of India

(c) Rashtriya Bank of India (d) Rural Bank of India
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

forE TR <A1 55T shalol Uk fesn & w1 HEaT B ?

(a) Q&I 35 (b) =R &I 5o

(c) M1l 3N AR EIeh 351 (d) T8 T 1S T

WTepfre Wl T UEe el WE g ot ?

(a) WRA (b) UTfREI (c) UM (d) =+
<o | ford I B Zrsaret Wi forehrd shishy @R fohan TR o ?

(a) 1970 (b) 1987 (c) 1972 (d) 1982
yers fo=ms 4 gt < At A9a & o g forg 93 w1 v e S @ ¢
(a) IR®EH (b) =R (c) UTSIeT Fepd (d) I T
1 1 9 o0 A1 a7 T S HRET o ford SRR ST STel! $T8 T Rl 3G B 7
(a) = &Y (b) 1 ferera (c) ST 3Tole fored  (d) 3 et
29 1 Sod] €711 S It IcdTel 8§ shels oh IUU Tohd Tfersrd <l &rfd gl 8 ?
(a) 10 (b) 20 (c) 30 (d) 40

TR H fces fehat AT & HieR IHot USATH 6. a1 gver ITd g1 g ?
(a) 2000 feferm  (b) 4000 feform (¢) 5000 feferm (d) 8000 feferm

FT 1 INTE FIR ?

(a) T o1 Terell fomiy T <t a® & SATeh YT LT |
(b) TNTI T TgA TR THEATSTT hl T LA TN BT |
(¢) TTHR T LI AT T |

(d) &= Gyt T S 3TN HET |

BTSSIeTeh Sieh TUTTed! fepd firgra Wt amenf@ 8 2
(a) UTEhHeH Al (b) I Ry (c) &bl (d) VIl
FHINE WAl F TR ?

(a) T AT ATk fera Tireteht Wefl i & T 37T T 31TTE H SearT HL od & |
(b) et BT TS YUIET SHITRE TATE LT & |

(c) Wl T Y& TTHR HLd! & |

(d) Sl 1 e HiY foruu S HaT 2 |

Tore 3eTe o WSTUT =g THT fom o1 I fepen ST & 7

(a) T HTH (b) 3T (c) &l (d) ™
ST 3ATE. T AT TR ?
(a) TS s 3T 3fea (b) T s 3T 3

(c) TSN S 31 gt (d) &I Sh IATH st
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81. What is Seepage ?
(a) Horizontal flow of water (b) Vertical movement of water in soil
(c) Gravitational movement of water (d) Upward movement of water

82. In computing cost of crop cultivation, land cost refers to

(a) Cost of own land (b) Rent of land taken on lease

(c) Cost of land in that area (d) Land rate fixed by the government
83. ‘Frog’ is a part of which agricultural implement ?

(a) Mould board plough (b) Sprayer

(c) Diesel engine (d) Gear system of a tractor

84. In spray pump, ‘swirl plate’ is a part of

(a) Nozzle (b) Piston (c) Cylinder (d) Spring
85. For deep ploughing, which of the following plough is preferred ?

(a) Mould board plough (b) Indigenous plough

(c) Chisel plough (d) Disc plough

86. Chain type tractor is called as
(a) Wheel tractor (b) Walking tractor (c¢) Crawler tractor  (d) Running tractor

87. Full form of ‘GATT’ is
(a) General Arrangement on Tariffs and Trade
(b) General Agreement on Tariffs and Trade
(¢) General Awareness on Tariffs and Trade
(d) General Action on Tariffs and Trade

88. Tilt angle in a disc plough varies from

(a) 5-18° (b) 10-15° (c) 15-25° (d) 25-90°
89. Training of Rural Youth for Self-employment Scheme was started on

(a) 15™ August, 1977 (b) 15™ August, 1978

(c) 15™ August, 1979 (d) 15™ August, 1980
90. The clutch transmits power from tractor engine to

(a) Cam shaft (b) Gear box (¢) Final drive (d) Difterential
91. Pradhan Mantri Fasal Bima Yojana was introduced in the country in

(a) 2014 (b) 2019 (c) 2020 (d) 2016
92. The first agricultural university of India was established at

(a) Kanpur (b) Pantnagar (¢) Ludhiana (d) Hisar
93. United Nations General Assembly has declared the year 2023 as

(a) International year of cereals (b) International year of millets

(c) International year of pulses (d) International year of oil-seeds

94. Which of the following is not a characteristic of extension education ?
(a) Class attendance is compulsory. (b) Itis flexible.
(c) Learners study problems. (d) Teacher has heterogeneous audience
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81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

AT R 2 7

(a) T 1 BINSTIUEE YaTg (b) urh =1 gftr ® aféerat yarg

(c) TocaTHYUT gRT UTH1 <l JaTg (d) 9T =T SW hHT 3R J4T8

T S AT H T A & o1 i Hiee 1 7 AR 2 2

(a) 39T STHA 1 I (b) S T et 78 S BT TR
(c) 3| & | S 1 Yoo (d) TR g fAgifa stia o1 g
TRIT et H SR fohd o1 BT AT R ?

(a) Hes T8 (b) TR (c) BT S5 (d) T Y TR yurTeAt
gwe T ¥ el wie’ fhashr am g ?

(a) AT (b) TueeA (c) Toeist (d) fem
& SIATS o5 Tor Tord WehT o1 Bt SugH BT B ?

(a) AceAESEA  (b) SfUgSiad & OREEEES OREE RS
o Y ¢ I Tohd A F AT ST R ?

(a) TEIA T (b) TTfRT S (c) ThIeR d&T (d) T dax

I’ (GATT) ST AW RS ?

(a) SIS IRSHE 3T i we ¢ (b) St wifie 3177 2w wwe ¢

(¢) SIS TRAT 31 it ug 2 (d) ST T 3 2w uvg 2

Teh qeeR gl § S[ehTdl 10T Tt % o= § T 2 :

(a) 5-18° (b) 10— 15° (c) 15-25° (d) 25-90°
TTHIOT a1 o ToT™l TSR TT1eaT AT e I g8 off 7

(a) 15 3T, 1977 (b) 15 3T, 1978 (c) 15 37T, 1979 (d) 15 37, 1980

FoTel ST oh T U WITeRd oh1 G=IRUT Tehdrehl LT @ 7

(a) hH-TITF (b) TR srererm (c) WIS g15d (d) fewifrre
T H T ®Ee SiTT AT < IEIATT e g5 off 7

(a) 2014 (b) 2019 (c) 2020 (d) 2016
WA <1 Yo 1Y forvaforrmera sval wenfud foram mm o 7

(2) BHR (b) TR (c) qferm (d) feam

G TP TEYT 3 a9 2023 1 =i foram 3

(a) =T HiE@ew a9 (b) I=RF firerem o

(¢) UL Toig a9 (d) I=RET Tae-ied a9

= 8 & 9 yoR e w1 R

(a) e H e ey (b) AT
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9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

106.

Cost involved during crop production period in purchase of seed, fertilizer, pesticides, etc.
are called

(a) Fixed cost (b) Variable cost (¢) Non-recurring cost (d) All of these

Which of the following is used for seed bed preparation and mixing of soil with crop residues ?
(a) Disc harrow  (b) M.B. Plough (c) Chisel plough (d) Rotavator

Which of the following is an expert system to help farmers by giving correct and timely
advice prepared by Centre for Informatics Research and Advancement, Kerala ?

(a) AGREX (b) CITEX (c) LIMEX (d) CUPTEX
Three tier system of Panchayati Raj was introduced based on the recommendation of
(a) Swaminathan Committee (b) K.C. Mehta Committee

(c) Balwant Rai Mehta Committee (d) Suchdeva Committee

Frontline demonstrations are conducted by
(a) Farmer (b) Researcher (c) Agricultural officer (d) Teacher

Main objective of Integrated Rural Development Programme is to provide
(a) Credit to farmers (b) Knowledge to farmers
(c) Exposure to farmers (d) Land to farmers

Best communication method in an illiteracy dominated village away from city is
(a) Extension literature (b) Organizing meeting
(¢) Showing film (d) Organizing demonstrations

The law of comparative advantage is based on
(a) Absolute margin (b) Relative margin
(c) Net margin (d) Additional margin

Production ration for animals includes ration for
(a) Milk, egg and pregnancy (b) Pregnancy and work
(c¢) Milk, wool, meat and egg (d) Milk, meat and breeding

What should be the weight of dry matter of feed for a cattle having body weight of 500 kg ?

(a) 50kg. (b) 25kg. (c) 12.5kg. (d) 6.25kg.
If the number of cattles is less than 10, which housing method will be preferred ?
(a) Single row system (b) Double row system

(¢) Loose housing method (d) None of these

A disease of udder in cow caused by bacterial infection is
(a) Ranikhet (b) FMD (c) Bloat (d) Mastitis
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9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

10S.

HH -3cATEH h TUY o, Iaeh, UTeY-HL&TT T 31fC Gied | g aTell 1 Hhadlrdl ¢

(a) RR== (b) IR =7 (c) IHTEd =3 (d) I T

7 9 8 % 1 5191 2T TR S TR BES TR i Jel o a1 e § e g e ¢

(a) Tem=h 3 (b) TH.&. =T ORELEEASIED (d) TeEX

=1 4 3 i fomivg yomeft feramt ot a9g W T TTE YeH Sl 8 S BUeT B S W

o Ug vgaHe, el g fopfa A SR ?

(a) WA (b) TTZH (c) ATEHEH (d) U
Terareht St W et v=mrdt TSt yomeft Sy ST oft ¢

(a) TEmfiTeH Gfbfa (b) .. Hegar wfufa

(c) SoTad T Wadn Afhfa (d) T=can afufd

3T Ui wesi= fr # & fopmes grn o feram Siran @ 7

(a) FIH (b) STIETRAl (c) P Rt (d) Ters
ufera urior foshra SRl (318,321, ) 1 I 329 1 ISH HEAT R ?
(a) SHTRI I his (b) Hh! Bl M

(c) I I THATST (d) I I SHH

TR H G IAUE A o STTAhdT aTet 7T H =R 61 He8 371 HIEH ST

(a) Toem Tfee (b) S T T

(c) =t fe@mn (d) JEI IS LT

eTeTeh 14 o1 frem fret # & fope W amanf@ 2 7

(a) A ™ (b) wEfRa ey (c) I ™ (d) Aferfeers @
T3 < T IcaTe U9 & e 8

(a) 5, 37ST TE THER o ford TR
(b) TR Ud % % f T

(c) 3Y, A, HIE TF 37 o o TRH
(d) g4, W TF TS o fordl TR

fereft 500 fob. 7. ST o AT % o7 =R T S[Soh SISl T BT =TTed 7

(a) 50 .. (b) 25f%.m. (c) 12.5Tw.m. (d) 6.25Tw.m.
Ffg a3l <l T 10 | S 81 a1 ford gITET fafer 1 79 =g ?

(a) Tl ufed JoTTeft (b) fg-afea woreft

(c) ISt Ersfe farfer (d) T @ i3 TE

. T o | g4 STeT Teh SHaTY] (SFATRT) Hshaol A T 3

() T (b) GEHRTTH  (c) TP @ e
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107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

To protect poultry birds from ranikhet disease, vaccination should be done at
(a) 6— 8 weeks of age only.

(b) 1-—7days, 6 — 8 weeks and 16 — 18 weeks of age.
(c) 1—7 days of age only.
(d) 16 — 18 weeks of age only.

Avian Leucosis complex caused by a virus, is transmitted through
(a) Direct contact and insect bite.

(b) Direct contact and through feed.

(c) Direct contact and through water.

(d) All of these

Homogenization of milk is done with the aim of
(a) Preservation of milk

(b) Obtaining a uniform fat emulsion

(¢) Reducing fat separation during storage

(d) Both (b) and (c) of above

Which of the following is not a reproductive organ of hen ?
(a) Epididymis (b) Ovary (¢) Oviduct (d) Vent and cloaca

Removal of unproductive poultry birds from the group is termed as
(a) Hulling (b) Culling (c) Vaccination (d) Grouping

Which of the following is used to improve the digestibility of roughages ?
(a) Urea (b) Phosphorus (c) Potash (d) Calcium

Landrace is a breed of
(a) Sheep (b) Goat (c) Pig (d) Poultry

Per capita recommended quantity of milk in the country is .
(a) 180¢g (b) 280 ¢g (c) 220¢g (d) 240 ¢

Badri is a breed of cattle found mostly in
(a) Sikkim (b) Himachal Pradesh (c¢) Uttarakhand (d) Haryana

Mehsana is the breed of which animal ?
(a) Cow (b) Buffalo (¢) Goat (d) Sheep

One hen can produce how many eggs in a year under proper management condition ?
(a) 100-150 (b) 150-200 (c) 200-250 (d) 50-100
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107. AT 1 THEd 19 T & F=7a 2 STl foham ST =t
(a) Hael 6 — 8 THTE hl 37 T
(b) 1—7Te, 6 — 8 Twrg 3R 16 — 18 TwTE HI 3T I
(c) Haad 1 —7fAa 3w
(d) HaeT 16 — 18 TTg sl U W

108. formmoy Sifra T uferem chifeE Siveied Sherdt 8

(a) 1Y E9h TF I Bl | | (b) Hg Hush Tg T |
(c) Y Tueh Tg U F | (d) Faftg

109. G o GHRTRT (RIHITTATSSIRIA) 1 91 3228 BId1 2 ?
(a) GY I TUET AT |

(b) ST BT THME IRIY (SHRM) ITd AT |
(c) YISRUT o THT SHT % TN i HH HT |
(d) @M (b) T (c)

110. F=faRad & @ & =1 grff 1 S FE g 2

(a) Tufgefim  (b) fermmm (c) fermnfeht (d) ¢ UE TR
111. 3cTesh it =1 Tog & g2 i 91 Hed 8 ?

(a) BT (b) Bt BT ORciEEu (d) it
112. f=1 O 9§ ferreht TRIRT Tt Shi UTerehal Sg &g feham STaT 8 7

(a) Ff (b) HIEHRE (c) e (d) Hfewm
113. i@ foraehl yafa wram g 2

(a) ¥ (b) s (c) H3W (d) Tt
114. <o # yfa =afe gu <1 weqa wma fopaft 2 ¢

(a) 180 7™ (b) 280U (c) 2207 (d) 2407
115. T 1 sl Jorfd fohe T2 | gega: uTg STt 8§ 7

(a) fafesm (b) femreret e (c) ITHTETE (d) e
116. SgHTT fohe w3 shT Sofa & 2

(a) T (b) H& (c) s (d) ¥
117. U it 3ferd wemer <At 3rawen § Ush o9 # b 318 ¢ Tkt 8 7

(a) 100 - 150 (b) 150 —200 (c) 200 — 250 (d) 50— 100
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118. Average weight of goose egg is
(a) 50¢g (b) 100 g (c) 150¢g (d) 200 ¢g

119. ‘Crazy Chick Disease’ of poultry is caused due to deficiency of
(a) Vitamin A (b) Vitamin B (¢) Vitamin K (d) Vitamin E

120. Indian Veterinary Research Institute is located at
(a) Haridwar (b) Makhdumpur (c) Hisar (d) Izatnagar

121. ‘Casein’ is a protein of which food item ?
(a) Egg (b) Meat (c) Milk (d) Vegetable

122. How much fat is present in ‘ghee’ ?
(a) More than 90% (b) Less than 80% (c) Between 80 —90% (d) Less than 70%

123. For storing semen, which of the following is used ?

(a) Liquid ammonia (b) Liquid nitrogen
(¢) Liquid oxygen (d) Liquid hydrogen
124. Who is known as father of White Revolution in India ?
(a) Dr. B.P. Pal (b) Dr. M.S. Swaminathan
(¢) Dr. M.S. Pradhan (d) Dr. Varghese Kurien

125. Milk fever is a disease of cattle, which is caused due to deficiency of
(a) Zn (b) Fe (c) Mg (d) Ca

126. What is the heat period in buffalo ?
(a) 2 -8 hours (b) 8—12 hours (c) 10—20 hours (d) 18 —30 hours

127. Foot and mouth disease is caused by

(a) Virus (b) Bacteria (c) Protozoa (d) Fungus
128. Which breed of goat is suitable for keeping in city ?

(a) Barbari (b) Jamunapari (c) Beetal (d) Gaddi
129. Bikaneri is a breed of which animal ?

(a) Goat (b) Cow (c) Buffalo (d) Sheep
130. Brahma, Cochin and Leghorn are breeds of

(a) Cow (b) Pig (c) Poultry (d) Sheep
131. Which breed of sheep is extensively reared in Uttarakhand ?

(a) Patanwadi (b) Gaddi (c) Bonpula (d) Pugal
132. Role of calcium in animal body is

(a) Formation of bones (b) Formation of teeth

(¢) Formation of milk (d) All of these

133. Which of the following is perennial in nature ?
(a) Bajra (b) Cow-pea (¢) Sorghum (d) Napier
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118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

§A@ % 37 I 3Ed g9 BT 2

(@) 50¢g (b) 100 g (c) 150 g (d) 200 g
it & “shoft feh U Fr B @ fermR At A BT ] 7

(a) Toafim T (b) ferefim <t (c) faefim (d) faefims
R T3]~ afered STTHe Heer el | Aafed @ 7

(a) BRER (b) HEGAYL (c) Temm (d) TSATR
‘S fra T TER AR R 7

(a) 3T (b) TG (c) g4 (d) SEafd

o o 59 ) 9T fha B R 7

(a) 90% T 3Tf®  (b) 80% ¥ HH (c) 80-90% &=  (d) 70% T HH

fe % wogror =g fr 3§ fopeent yam fpean SraT 2 ¢
(a) A MR (b) A ATEIISH (c) T AT (d) T BIESISH

e § ford vad sh1f=d AT S HET A1 8 ?

(a) S &9, a1 (b) SI. TH.TH. WA

(c) 1. TH.TH. 99 (d) =i. afte i

TR gre-ser A fore diweh Tl B HA A FA R 7

(a) 5 (b) el (c) Hfiferm (d) hfewam

9 o Heshlot fehd T0% I W1 8 7

(a) 2—8%Ee (b) 8—12%R (c) 10-207% (d) 18-307%e

TIIHT-Heush! ST et & @ fopod Bt 2 7

(a) 9H (b) Sframo (c) TSI (d) Hah

SRl Sl M T 7L IME § UTe o o ST B 7

(a) SR (b) AT (c) ofteet (d) T

S fpa ay F A 8 7

(a) SRl (b) T (c) ¥ d) ¥

SR, I 3R ATe feraehl T & 7

(a) T (b) g3 (c) Tt (d) 9

W <l S = Il STRREvE # Iq@ &9 § Tedl et B 7

(a) TSt (b) e (c) SHYe (d) T

T3t ok IR H hfcem 1 e gt

(a) Bfed = fmio & | (b) TIdl T 0T ST |

(c) gY 1 FmivT e | (d) Jaft
iR wmagaf ysfa w2 ¢

(a) S (b) <R (c) SOR (d) AFRR
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134.

13S.

136.

137.

138.

139.

140.

141.

142.

143.

144.

14S.

146.

Anthrax disease in animals is caused by

(a) Virus (b) Fungi (c) Bacteria (d) Feed
Milk is deficient in

(a) Calcium (b) Protein (c) Iron (d) Vitamins
First Al buffalo calf was born at

(a) Allahabad (b) Karnal (c) Mathura (d) Bareilly
Quantity of protein in animal ration must be around

(a) 25% (b) 35% (c) 45% (d) 15%
Grasshopper, a straight wing insect, belongs to insect order

(a) Isoptera (b) Orthoptera (c) Zoraptera (d) Hemiptera
‘Ear cockle’ disease of wheat is caused by

(a) Bacteria (b) Nematode (c) Virus (d) Fungus
Phyllody is a disease of

(a) Wheat (b) Linseed (¢) Mustard (d) Til
Pokkah boeing disease of sugarcane is caused by

(a) Fusarium oxysporum (b) Fusarium moniliforme

(c) Ustilago nuda (d) Ustilago hordei

In aerobic organisms, complete oxidation of the pyruvate occurs through which process ?
(a) TCA cycle (b) Glycolysis

(c) Pentose phosphate pathway (d) Calvin cycle

Which of the following is known as power house of the cell ?

(a) Lysosome (b) Chloroplast (c) Golgi bodies (d) Mitochondria

The metabolites of micro-organisms which in very small concentration have the capacity to
inhibit growth or even destroy the other microorganism are known as

(a) Fungicide (b) Bactericide (c) Antibiotic (d) Acaricide

National Bureau of Plant Genetic Resources (NBPGR) is located at
(a) Dehradun (b) New Delhi (¢) Coimbatore (d) Shimla

Which species of honeybee is commonly used for the commercial beekeeping in India ?
(a) Apis cerana indica (b) Apis dorsata

(c) Apis melliferea (d) Apis florea
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134, 3T § TS Areh st fopwh g Bt B 7

(a) feramoy (b) hereh (c) Sftemy (d) =
135. gu & fom 3 9 fepmeht ol Bt B 7

(a) Hfeaan (b) TH (c) IR (d) faerfim
136. &A1 U.3TTS. G 1 ST hal Ul g7 T ?

(a) IATEEG (b) HETA (c) TYT (d) et
137. U o TRE § W 61 a1 A ferat g anfed ¢

(@) 25% (b) 35% (c) 45% (d) 15%
138. feger, St foh weh €l 4 a1t shic B, <hidi o fohe TSt H AT g ?

(a) SATBHT (b) AT (c) =T (d) ghre
139. T ® Og U forsreh g1 Shetar & ?

(a) ST d (b) TFHM (FHCE) ¥ (c) TowmqH (d) sk
140. wEAE! forgsh A @ ?

(a) T (b) TerElt (c) Txat (d) fa=
141. = | Tigeh! 9157 SIHRT 1 TSI &

(a) R ST eaH (b) T Hiffersid

(c) e =t (d) nfeeam gifdard
142. TFifesh Sfal § qreae o1 Ut SiadieRtor fohg ufshan @ gran 8 2

(a) &€ wzferat (b) TATSRITCIRTE

(¢) YU BIEhS TS (d) Shfcer =

143. HIf3eRT 1 U1 g9 fh8 hEd 2@ ?
(a) ATZEEM (b) FANAREL (c) T S (d) TTEIRITUZAT

144, GEwS{El o HTEIATSE S 95 7 AT H gL GEASE o frehrel ol ST1d a1 I X8 | 78 3
Thal g, SH FThHad & 7

(a) HIHATI (b) StraTuTSf (c) TudtETfes (d) THOETES
145. IS S 3% WA= ST TS el e @ 2

(a) SBGH (b) 3 feeeft (c) HRIEI (d) Temem

146. YA H memeRelt 61 form ST ST S |HT=Id: SATaETRes AYHeRe 9T gg fohan Sran g 2
(a) T ST ST (b) Uit giEa
(c) i Hferssu (d) wfre i
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147. A disease causing microorganism which requires a living host to grow and reproduce is

known as

(a) Facultative pathogen (b) Saprophytic pathogen

(c) Obligate pathogen (d) Scavenger
148. The dose of pesticide that kills 50% population of pests is known as

(a) LC50 (b) LD 50 (¢) KT 50 (d) LT90
149. The pulse beetle lays eggs on

(a) Whole pulses grains (b) Split pulses grains

(¢) Pod of pulses (d) Storage bags
150. What is the dose of HaNPV in LE/ha for the management of Helicoverpa armigera in chick-

pea ?

(a) 200 (b) 250 (c) 400 (d) 500
151. The ‘Gene for Gene’ hypothesis was used for the first time by

(a) Flor (b) Batson (¢) Fundan Singh (d) B.D. Singh
152. Which insects have the rasping-sucking type of mouth parts ?

(a) Thrips (b) Aphids (c) Bugs (d) Honey-bee
153. The primary centre of origin of maize crop is

(a) India (b) Japan (c) Pakistan (d) Mexico
154. The causal organism of little leaf of brinjal is

(a) Fungus (b) Algae (¢) Mycoplasma (d) Virus
155. Which of the following biocontrol agent is used for management of soil borne diseases ?

(a) Trichograma spp. (b) Trichoderma spp.

(¢) Trogoderma spp. (d) Tentulus spp.
156. A sudden heritable change in an organism is called as .

(a) Amputation  (b) Propagation (c) Mutation (d) Heterosis
157. G.M.O. in agriculture means

(a) Genetically Modified Organism (b) Genetically Mutated Organism

(c) Genetically Mixed Organism (d) Genetically Moderated Organism
158. Wheat is mainly a

(a) Self-pollinated crop (b) Cross-pollinated crop

(c) Often cross-pollinated crop (d) Seldom self-pollinated crop

159. In plants, male sterility is due to
(a) Non-functional pollen grains
(b) Non-functional ovary
(c) Either non-functional pollen grains or ovary
(d) Non-receptive stigma
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152.

153.

154.

158S.

156.

157.

158.

159.

T WTehReh Gersia g Sffaa diyes 9e <l STTaweehal 3101 SgaR Td Yo o ol it &,
3 hed &

(a) Teheefed FUSH (b) TTETEfeH TS

(c) Affeetie e (d) Thas

YfeeaTse S 98 91 S 50% U ) &A1 1 9T 1 94T 2l 2, 39 %Ed 8

(a) TA L 50 (b) TAE 50 (c) 50 (d) T 90
e 1 fohdl STe et el @ 7

(a) |19 gTet (b) e (c) A i et (d) HUGRYT

T & Bellvesh dHie (Fferpiaut sfifaw) % yaem 8 HaNPV & forat omn @1.3. /3. &I
SATIIIRAT Bl & ?

(a) 200 (b) 250 (c) 400 (d) 500
frforfiga o & feraeh gra < % ford S <hi Sraremon geft s’ = < e 7

(a) TR (b) Se&A (c) Fred fig (d) g fag
1 & @ fopm e & Hem-afhn ThR F qE@m a8 72

(a) Forem (b) TfheH (c) o (d) ARt
ToRT %] B T T 3T g &

(a) WRA (b) S (c) HTfh&d™ (d) Afeaep!
s w1 fafeet < T fope Sfig % SR gEaT 8 2

(a) helh (b) et (c) HTShICATSHT (d) fersmoy

e Fa ST o R 7g = 5 @ i &1 St9 e sifiendl o 9 H S BlaT @ ?
(a) TTSHIUTHT IS (b) CTEHhISHI IS () SITISHT JSilfd (d) 2veAH STl

fepeht sfter o 3reren ATeTTeh Tieda 1 had &

(a) TFRICIH (b) TS (c) VLA (d) R
Sff. w37 H Ry H s R g 7

(a) SHfeeheft Aifewse HATRHwH (b) Sfeeht Te HAHiFeT

(c) SHfeehelt fee sAfifasa (d) SHfeeheft Aigids ISy

T JEAd: Th 2

(a) W-9URE HHA (b) W-TRT HEA

(¢) ITI: W-TT1d BTA (d) wfi-eft Ul was

qei # A Riferdl’ fpa asg A gt 8 ?

(a) TehER (UTeid IH) w1 fHfSsha BT | (b) Tardt 1 iR g |
(c) dYei 3 2 SAterdl <h1 Ffsshar & |
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161.

162.

163.

164.

16S.

166.

167.

168.

169.

170.

171.

172.

‘Law of Segregation’ and ‘Law of Independent Assortment of Inheritance’ were given by
(a) Charles Darwin (b) Gregor John Mendel

(¢) Melvin Calvin (d) Birbal Sahni

Repeating spore in wheat stem rust is

(a) Teliospore (b) Basidiospore (c) Aeciospore (d) Uredospore

The concept of boom and bust cycle of resistance genes was given by .
(a) N.A. Cobb (b) Zadock (c) Priestly (d) Vander Plank

In India, mutation breeding programme began in
(a) 1927 (b) 1928 (c) 1929 (d) 1930

The botanical name of Taramira is
(a) Brassica juncea (b) Brassica rapa (c) Brassica nigra (d) Eruca sativa

International Crops Research Institute for semi-arid tropics is situated at

(a) Kenya (b) Dhaka (c) Peru (d) Hyderabad
Jumping genes in maize were discovered by

(a) Barbara McClintok (b) Muller

(c) Morgan (d) Crick

Which of the following theory was proposed by Beadle and Tatum working with pink bread
mould to explain the gene action ?

(a) Operon hypothesis (b) Germplasm theory

(¢) Linkage theory (d) One gene one enzyme hypothesis
Development of an embryo from an egg cell or cell associated with it with or without meiosis
but without fertilisation is termed as

(a) Apomixis (b) Pseudogamy (c) Apospory (d) Parthenogenesis
Which of the following is a cross-pollinated crop ?

(a) Niger (b) Linseed (c) Bajra (d) Cow-pea

Hybrids were first exploited commercially in which crop ?

(a) Soybean (b) Maize (c) Bajra (d) Cotton

How many stages of mitosis are found in cell division ?

(a) 3 (b) 5 (c) 4 (d) 6

Which of the following rice and wheat varieties were developed through induced mutation ?
(a) Pusa Larma & Laxmi (b) Jagannath & Pusa Larma

(¢) Aruna & Saubhagya (d) Pant Dhan — 24 and Karan Vandana
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172.

AT 316 AHNTH qAT AT 371 3USUUSUE THIHE 3T S=ed fordsh g fed T & 7
(a) ICE S (b) WRIRIAAHSA  (¢) Hfead dfca (d) SEe Fret

% o T T 56 H hIF AT WS TR-FR ST 8 7
(a) Tefaramem (b) SfafearTR (c) TSI (d) TSR

Fferieft SfiF o ToTu 91 TUg e =13k shi Sraeron fohe < off 7

(a) TAU. hia (b) S (c) foreat (d) IS =ik
YA § IcAREd T SRishH e I g7 ?
(a) 1927 (b) 1928 (c) 1929 (d) 1930

AN <hT ST feeh T8 T R 7
(a) S SRET  (b) S Tm (c) Sifeew1 g (d) g&h! Hergan

SHelyTseh hicae o o Rig Bt SEYH HerH wal frd 8 7

(a) = (b) @I (c) W& (d) BeUETg
Tereh T ST S <h @IS ferdeh g <kl T8 7

(a) SRS Hehfoetereh (b) e

(c) A (d) fsrep

ST foran <t =me ot o ol fieh oie Wice W e td gu ied iR dad i a a s
forgrea feam o 7

(a) ST FENARE (b) STefeeTSH 2

OREEEREIN (d) T S T 3oen EwafE

U1 okt ST 378 SHITTehT AT $Heh 1Y ! hifvrehT & Torenfee sifsrept favrs = fom favrem
g femn Forret =B wfshen & g € 3@ HEA ¢ |

(a) TifirfeaE (b) SEHH (c) TAERy (d) mITSATEE
fradasnfiw-wfawaa g ?

(a) TSR (b) T (c) ST (d) efern
e Heht fohel o ST SR e 8§ | fohd waet § foharm T o 2

(a) TSN (b) HeRhT (c) SR (d) HuTE
HITTRT favToH T ATSI o bl fehdT 3rereemd urs ST & 7

(a) 3 (b) 5 (c) 4 (d) 6

= 9 @ S o g vd g Y fora Ifa Scafada g fasfia € 7

(a) JET T 3TN creft (b) ST 3TR &1 i

(c) 3TRUTT TR FuT (d) TAYT — 24 3TR HIL01 F&T
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174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

Which of the following is an example of nitrogen fixing bacteria ?
(a) Azotobacter  (b) Nitrobacter (c¢) Nitrosomonas (d) Pseudomonas

Which of the following legume crop is used as an oil-seed crop ?
(a) Chick-pea (b) Soybean (c) Arhar (d) Lentil

Which one of the following plant nutrients is useful in increasing resistance to disease and
insect-pest in plants ?

(a) Potassium (b) Nitrogen (c) Calcium (d) Phosphorus

Which one of the following is used for interculture operation under SRI ?
(a) Hand hoe (b) Cono weeder (¢) Push-pull weeder (d) None of these

When the fertilizer is placed in bands on one side or both sides of the row about 50 mm away
from the seed or plant in any direction, it is termed as

(a) Deep placement (b) Sub-soil placement
(c) Band placement (d) Contact placement

The Food Corporation of India was established in the year
(a) 1960 (b) 1964 (c) 1967 (d) 1972

Due to toxic effect of which of the following element plant leaves turn into purplish brown
in colour ?

(a) Iron (b) Nitrogen (c) Boron (d) Phosphorous

Which of the following element is involved in the synthesis of cystine amino-acid ?
(a) Calcium (b) Potash (c) Iron (d) Sulphur

Which one of the following is an example of C, plant ?

(a) Wheat (b) Rice (c) Cotton (d) Maize
The ‘Fertilizer Control Order’ was enforced for the first time in the year

(a) 1937 (b) 1957 (c) 1967 (d) 1977
Khaira disease of rice is caused due to deficiency of

(a) Sulphur (b) Potassium (¢) Zinc (d) Copper
Hydraulic conductivity of soil varies directly with

(a) Non-capillary porosity (b) Capillary porosity

(c) Total porosity (d) Water holding capacity

Soils with high pH values are generally deficient in
(a) Cuand Mo (b) B andFe (c) Caand Mg (d) Zn and Mn

The cold treatment given to seed to break dormancy is called
(a) Stratification (b) Scarification (¢c) Cryofication (d) None of these
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184.

18S.

frerferfiga o & i a1 oo e Shem & 7

(a) TAREFA  (b) TEEISFL (c) TEIEEAE () BEHA™

=1 1 O forg wefiqR waet o1 3 foetefl waa & w9 H fhar Sman g ¢

(a) =1 (b) FRTEH (c) 3T (d) wFgt

e o 9 fopm diweh —aval o SR @ Wil | <hie-udn ud iy o Ui uferkier ermar sedt 8 2
(a) dIefiEm (b) TASH (c) hfcaam (d) BIERRH

e 4 @ fopmrept w9 <Y TE. AR 3TE. agfa | ot HadH s -fran 8 fpa smar 2 2
(a) &8 (b) Il et (c) FRI-9 fret (d) 3T & I3 TE

It o1 ST AT Wi <hl Tferd o Teh A A1 QT a0 50 mm 31 g4 TR fereft oft e 4 srom
sk ! hEd 8
(a) B9 IEHS (b) TE-TIA WS (¢) S <IEHS (d) HIUETR wIEHE

R @ formm <) v forg o o <6 77 off 2

(a) 1960 (b) 1964 (c) 1967 (d) 1972
e Sttt o1 ST g O e 6 8 TR e o forTerRy wTa o R gt g 7
(a) <&l (b) TASH (c) SR (d) BIERRH
freferfiga o & o= a1 o T U 31t o Hvelsor o e B g ?

(2) Hfcwem (b) Trem (c) e (d) T
o 5 9 =i @1 den ¢, 1Y 1 3qE g 7

(a) T (b) g™ (c) U™ (d) TIeRHT
It TR 3Ty wEel O fohd oy o fRafeea gam @

(a) 1937 (b) 1957 (c) 1967 (d) 1977
T | W U ohe o< Sl SHHI A BT ® 7

(a) TIH (b) TefrEm (c) ST (d) atan
1 I BTggifoteh husfaeiadt feredt wie wafaa g 2 7

(a) T-hiterd TR (b) hiterd TR

(c) Ul TRIfEdt (d) ST N7 &l

31fereh die= o aTeft gereti § e o @ fopesh! sheft araT=ras T8 St 8 ¢

(a) CutTd Mo (b) BUTE Fe (c) CaTd Mg (d) ZnT& Mn

. ¥ Sl gearaedT I Are =g 3L ATIHH I FART HadATdl &

(a) Tfefrhsm  (b) THifherH (c) SHTAIhohS (d) 379 T HIS T
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187. Acid soils are ameliorated by using

(a) Iron sulphate (b) Calcium chloride (c¢) Gypsum (d) Lime
188. Barley is a crop suitable for climatic region of

(a) Sub-tropical climate (b) Tropical climate

(¢) Temperate climate (d) Mediterranean climate

189. Soil saturation means
(a) Filling of all pores of soil with water.
(b) Filling of 75% pores of soil with water.
(c) Filling of 50% pores of soil with water.
(d) Filling of 25% pores of soil with water.

190. Paraquat is a/an

(a) Insecticide (b) Fungicide (c) Weedicide (d) Rodenticide
191. Sunhemp is a crop.

(a) Green manuring (b) Mulch

(¢) Competitive (d) Parallel

192. Cultivation of two or more crops simultaneously on the same land without definite row
pattern or ratio is called

(a) Multiple cropping (b) Mixed cropping
(c) Intercropping (d) Ratoon cropping
193. Sugars which contain aldehyde or ketone group are called
(a) Reducing sugars (b) Non-reducing sugars
(c) Oxidizing sugars (d) None of these
194. Red colour of soil is due to the presence of
(a) Hematite (b) Goethite (¢) Glaucunite (d) Ilite
195. The botanical name of chick-pea is
(a) Pisum sativum (b) Cicer arietinum L. (¢) Lens culinaris (d) Phaseolus vulgaris
196. India has been divided into how many agro-climatic zones ?
(a) 5 (b) 10 (c) 15 (d) 20
197. The ideal row-to-row spacing for rain-fed mustard crop is
(a) 45 cm (b) 60 cm (¢) 90 cm (d) 15 cm
198. Which one of the following is correct ?
(a) P,0O5%x2290="P (b) P,O5%x0.830=P
(c) P,O5x0.715=P (d) P,05%x0437=P
199. ICAR — Indian Institute of Soil Science is situated at
(a) Lucknow (b) Patna (c) Bhopal (d) Hyderabad
200. The required number of three budded setts for planting sugarcane in one hectare area would
be
(a) 20,000 —25,000 (b) 30,000 — 35,000
(c) 40,000 — 45,000 (d) 50,000 — 55,000
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193.

194.
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198.

199.

200.

Tl e 1 RpE T & 3 e S R ¢

(a) IFEHHE  (b) hicwrm FANEE (o) Foeem (d) =

St fore Tetamy vad o ford Suae vt @ 7

(a) USSR (b) T AAAY (c) SMAT A (d) YHEA-TI Sefary
T&T S’ 1 I 7

(a) Tft ey feog <1 Ot & e | (b) 75% TeT Teai o1 ar= & 9T |

(c) 50% eI Tl o1 I & WA | (d) 25% weT Teogi o1 aT & W |

e A A A g ?

(a) hieATSh (b) wheTER (¢) GUUAARATIY (d) STt

I3 fra R H wHA & 7

(a) B @G (b) USER (¢) Sfcaeaicres (d) THTT<R

T B fH o e FoRet forfr 2 1T o Q1 AT Q) § 311 HEl ol Ueh WY TIHT HEaATdl 2
(a) Ao ST (b) Theree shifum (c) SUSTEHITUT (d) g it

TRt o TfeeaTss A1 e gu 2IdT 7, 3% el I 8
(a) FTHNH THU  (b) IFEHEH ThU  (¢) FHIhRH ThU  (d) 370 H HIE 781

e 1 AT T e H § fopeh! sufef & wRu g R 7

(a) EHeTEe (b) TRATEE (c) IS (d) gemse

ST T ISk I &

(a) UTSHH EZAE  (b) WS WFH TA. (c) o Pieri@ (d) Hfasned aefE
WA < feha iy STeTaTgeia &1 § sier T g ?

(@) 5 (b) 10 (c) 15 (d) 20

HAffd Tl 61 wHA o o dfed 9 ufed i sexi g g ¢

(a) 459w (b) 60 Tt (c) 90 Tt (d) 153t
fdasraradie ?

(a) P,0,x2290=P (b) P,04x 0.830 =P

(c) P,0sx0.715=P (d) P,0,x0.437=P

91.%.31.9. — W19 9a] 9™ T hal feIa g ?

(a) TETH (b) T (c) waTe (d) BEUETE

Teh I SABA H T hl G378 o T 31Terveh o1 SicTeh1T aTel gohel <hl T o1 ghft 7
(a) 20,000 — 25,000 (b) 30,000 — 35,000

(¢) 40,000 — 45,000 (d) 50,000 — 55,000
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